

$$g'(x/f) = f'(\tan^p x/f + \sqrt{f} \cos x/f) \cdot \left(\frac{p \tan^{p-1} x/f}{f} (1 + \frac{\tan^p x/f}{f}) + \frac{-\sqrt{f} \sin x/f}{f} \right)$$

$$\Rightarrow \sqrt{f} = f'(r) \cdot r \Rightarrow f'(r) = \frac{\sqrt{f}}{r} \quad \checkmark$$

$$g'(\eta) = \frac{-f \sin \eta}{(f - \cos^p \eta)^p} \quad f'(\eta) = \frac{(-f \sin \eta \cos^p \eta)(f - \cos^p \eta) - (1 + \cos^p \eta)(-f \sin \eta)}{(f - \cos^p \eta)^p}$$

$$= \frac{(-f \sin \eta \cos^p \eta) + (f + \cos^p \eta) \sin \eta}{(f - \cos^p \eta)^p}$$

$$(f - f g)(\eta) \Rightarrow \frac{1 + \cos^p \eta}{f - \cos^p \eta} - \frac{f}{f \cos^p \eta} \Rightarrow \frac{1 + \cos^p \eta - f(1 + \cos^p \eta)}{f - \cos^p \eta} = \frac{\cos^p \eta - f \cos^p \eta}{f - \cos^p \eta}$$

$$= \frac{\cos^p \eta (\cos^p \eta - f)}{f - \cos^p \eta} \Rightarrow (f - f g)'(\eta) = \sin \eta \Rightarrow \sin(\sqrt{f}/g) = -1/g \quad \checkmark$$

$$\lim_{\eta \rightarrow \sqrt{f}/g} \left(\frac{f \eta - \sqrt{f} \eta g}{\eta - \sqrt{f}} \right) = p \sqrt{f} a \quad \lim_{\eta \rightarrow \sqrt{f}/g} \left(\frac{-\sqrt{f} \eta - p}{\eta - \sqrt{f}} \right) \left(\frac{\sqrt{f} \eta}{\eta - \sqrt{f}} \right) = -p \sqrt{f} a$$

$$\Rightarrow \sqrt{f} a = p \sqrt{f} a = p \sqrt{f} \Rightarrow a = \sqrt{f} \quad \checkmark$$

$$f(f) + f'(f) = -1 \Rightarrow f - f a + (-a) = -1 \Rightarrow f - 2a = -1 \Rightarrow 2a = f + 1 \Rightarrow a = \frac{f+1}{2}$$

$$f'(f) = -a = -\frac{f+1}{2}$$

$$y = \sqrt[p]{x+1}$$

$$y' = \frac{a(p x + 1) - (a x - 1)}{(p x + 1)^p} = \frac{a + p}{(p x + 1)^p}$$

$$x + a = \frac{a x - 1}{p x + 1} \Rightarrow p x^p + (1 - 1/a) x + 1/p = 0$$

$$\Rightarrow p x^p + (1 - 1/a) x + 1/p = 0 \Rightarrow -1/a x^p - p x^p + 1/p x + 1/p = 0 \Rightarrow +p x^p + x^p - 1/p x - 1/p = 0$$

$$x^p(p x + 1) - f(p x + 1) = 0 \Rightarrow (x^p - f)(p x + 1) = 0$$

$$\downarrow \quad \downarrow$$

$$x = \pm \sqrt[p]{f} \quad x = -1/p$$

$$\Rightarrow x = \sqrt[p]{f} \quad a = \frac{f+1}{\sqrt[p]{f}} = f \quad \checkmark$$

$$\lim_{n \rightarrow \infty} \frac{\sin^n(x) \times n \sin^{n-1}(x) \times \cos(x) \times (n)}{(r \sin^{\frac{n}{r}})^m} \xrightarrow{\text{L'Hôpital}} \lim_{n \rightarrow \infty} \frac{(x^n) n (x^n)^{n-1} \times n}{(r (\frac{x}{r})^r)^m} =$$

مطلوب

$$\lim_{n \rightarrow \infty} \frac{\ln x^{n+1} - r+1}{(\frac{x}{r})^m} = \lim_{n \rightarrow \infty} \frac{\frac{1}{x} x^{n+1}}{\frac{1}{r^m} x^{rm}} = \lim_{n \rightarrow \infty} r^{m+1} n x^{r-m-1}$$

بما ان الحد من غير متغير غير صفرى

$$\begin{cases} r_{m+1} - r_{m-1} = 0 \rightarrow n = \frac{r_{m+1}}{r} \rightarrow r^{m+1} \times \frac{r_{m+1}}{r} = r^m \sqrt{r} \rightarrow (r_{m+1}) r^{m+1} = r^m \sqrt{r} \rightarrow m = \frac{r}{r} \\ r_{m+1} = r \sqrt{r} \end{cases}$$

$$\begin{aligned} f(r) &= n + ra - b = 0 \Rightarrow ra - b = -n \Rightarrow -18 - b = -11 \Rightarrow b = -7 \\ f'(r) &= r(r) + a = 0 \Rightarrow a = -12 \\ r^m n + a & \end{aligned}$$

$$\lim_{n \rightarrow 0} \frac{f(n) \cdot f'(n)}{(1 - \cos n)^m} = r \sqrt{r} \Rightarrow \frac{\sin^n(n) \cdot (n \sin^{n-1}(n)) \cdot \cos(n)}{(1 - \cos n)^m} = r \sqrt{r}$$

$$\begin{aligned} f'(x) &\Rightarrow \frac{\sqrt{y+1}}{\sqrt{y-1}} = n \Rightarrow \sqrt{y-1} - n = \sqrt{y+1} \\ &\Rightarrow \sqrt{y-1} = 1+n \Rightarrow \sqrt{y} = \frac{1+n}{n-1} \Rightarrow y = \left(\frac{1+n}{n-1} \right)^2 \\ \Rightarrow y' &= r \left(\frac{1+n}{n-1} \right)^2 \cdot \left(\frac{1}{(n-1)^3} \right) \Rightarrow r \left(\frac{1}{n-1} \right)^2 \cdot \left(\frac{-1}{1} \right) = -12 \end{aligned}$$

$$\begin{aligned} f(0) &= 1 \\ f(-1) &= n \cdot (-a+1) = -na+1 \\ n &= -ra = -\frac{1}{r} a - r = 1 \Rightarrow \frac{-1a+1-1}{-1} = -11 \Rightarrow 11 = -1a+1 \Rightarrow a = -\frac{1}{r} \\ f'(n) &= r(n^{r+1})^p \cdot p \cdot a(n^{r+1})^{p-1} + a(n^{r+1})^p \\ &\Rightarrow r \left(\frac{1}{r} \right)^p \cdot \left(-\frac{1}{r} + 1 \right) + -\frac{1}{r} \left(\frac{1}{r} \right)^p = 1 \end{aligned}$$

$$\begin{aligned} y &= \sin^2 x - \cos^2 x = \sin^2 x - \cos^2 x \\ &\Rightarrow \frac{\sin^2 \frac{x}{r} - \cos^2 \frac{x}{r}}{\frac{x}{r} - \frac{x}{r}} = \frac{-1 \cdot 1 \cdot 1}{\frac{x}{r} - \frac{x}{r}} = -\frac{1}{r} \\ &\Rightarrow \frac{(\sin^2 \frac{x}{r} - \cos^2 \frac{x}{r}) - (\sin^2 \frac{x}{r} - \cos^2 \frac{x}{r})}{-\frac{x}{r}} = \frac{-1(1)}{-\frac{x}{r}} = \frac{x}{r} \end{aligned}$$